


Mathematics Holidays Homework 

Section – A 

MCQ 
1. Decimal representation of a rational number cannot be 

(a) terminating    (b) non-terminating 

(c) non-terminating repeating  (d) non-terminating and non repeating 

pirmyX sMiKAwvW dw dSmlv ivsqwr nhIN ho skdw 
(a) Swq     (b) ASwq 

(c) ASwq AwvrqI     (d) ASwq AxAwvrqI 
2. The product of any two irrational numbers is 

(a) always an irrational number  (b) always a rational number 

(c) always an integer   (d) sometimes rational, sometimes irrational 

do ApirmyX sMiKAwvW dw guxnPl  
(a) hmySw ApirmyX sMiKAw   (b) hmySw pirmyX sMiKAw  

(c) hmySw sMpUrn sMiKAw    (d) pirmyX / ApirmyX 

3. The value of      in the form 
 

 
, where p and q are integers and q ≠ 0 is 

     dw mu~l  
 
 dy rUp iv~c, ij~Qy p Aqy q sMpUrn sMiKAwvW Aqy q ≠ 0 

(a) 15  (b) 29  (c) 25  (d) 18 

4. Which of the following is irrational? 

iehnW iv~coN ikhVI ApirmyX sMiKAw hY? 

(a) 0.14 (b)             (c)               (d) 0.4014001400014… 

5.           is equal to           brwbr hY 
(a)     (b)     (c)     (d)      

6. For positive real numbers p and q, which of the following is not true? 

Dnwqmk vwsqivk sMiKAwvW p Aqy q leI iehnW iv~coN ikhVw s~c nhIN hY? 

(a)             (b) (p +   ) (p –   ) = p
2 

– q  

(c)  
 

 
 

  

  
    (d) (   +   ) (   –   ) = p+ q  

7. Sum of two irrational numbers is: 

(a) is always an irrational number   (b) is always a rational number 

(c) may be a rational or an irrational number (d) always an integer 

do ApirmyX sMiKAwvW dw joVPl …… ਹ ੁੰ ਦਾ ਹੈ। 
(a) hmySw ApirmyX sMiKAw    (b) hmySw pirmyX sMiKAw  

(c) pirmyX / ApirmyX     (d) hmySw sMpUrn sMiKAw  
8. The number of rational numbers between    and    is 

    Aqy    dy ivckwr ਕ ੁੰ ਨੀਆਂ pirmyX sMiKAwvW ਹ ੁੰ ਦੀਆਂ ਹਨ? 

(a) 1  (b) 2  (c) 3  (d) infinite / Axigxq 

 9. To rationalise the denominator of 
 

    
, we multiply this by: 

 

    
 hr dw pirmyiXkrn krn qy iks nwl guxw krWgy  

(a) 
 

    
 (b) 

    

    
 (c)

 

     
  (d) 

    

    
 



10. (3 +   ) (3 –   ) equals(brwbr) 
(a) 9 –      –      (b) 9 –    

(c) 3 +       (d) 9 –      +      –    

11. Which of the following lies in second quadrant? 

iehnW iv~coN ikhVw dUjI-coQweI iv~c Awvyygw? 

(a) (-2, -4)  (b) (0, -4) (c) (1, -3) (d) (-2, 5) 

12. Which of the following lies on the y-axis? 

iehnW iv~coN ikhVw y-Dury qy AMikq hovygw? 

(a) (-5, -4) (b) (0, -2) (c) (2, 0) (d) (-5, 0) 

13. Zero of a polynomial P(x)=ax
2
, a≠0 is 

    Bhupd P(x) = ax
2 dI isPr, ijQy a≠0 hovy[ 

(a) 0  (b) 1  (c) -1  (d) None of these / iehnW iv~coN koeI nhIN 
14. Degree of polynomial 0.x

5
 + 4x

4
 + 0.x

3
 + 0.x

2
 + 5x + 7 is 

     0.x
5
 + 4x

4
 + 0.x

3
 + 0.x

2
 + 5x + 7 bhupd dI Gwq ....... ਹੈ। 

(a) 5  (b) 4  (c) 3  (d) 6 

 

True / False 
1. Every real number is a rational number. (T / F) 

    hryk vwsqivk sMiKAw ie~k pirmyX sMiKAw huMdI hY[ (shI / glq) 
2. Every irrational number is an integer. (T / F) 

    hryk ApirmyX sMiKAw ie~k sMpUrn sMiKAw huMdI hY[ (shI / glq) 
3. (1, -1) and (-1, 1) lies in the same quadrant. (T / F) 

    (1, -1) Aqy (-1, 1) ie~ko coQweI iv~c AMikq huMdy ਹਨ[ (shI / glq) 
4. A cubic polynomial is always of degree three. (T / F) 

    iqMn GwqI bhupd dI Gwq hmySw iqMn huMdI hY[ (shI / glq) 
5. –3 is a zero of the polynomial y2 + y – 6.  (T / F) 

    y2 + y – 6 bhupd dI ie~k isPr ‘-3’ hY[ (shI / glq) 
6. One zero of a polynomial is always 0. (T / F) 

    bhupd dI ie~k isPr hmySw ‘0’ huMdI hY[ (shI / glq) 
 

Fill in the blanks 
1. Co-ordinates of origin are ________. 

    mUl ibMdU dy inrdyS AMk ________ huMdy hn[  
2. (x + a) (x + b) = ________ 

3. (a – b)
3
 = ________ 

4. a
2
 – b

2
 = ________ 

5.    
 

 
 is a ________ polynomial.     

 

 
 ie~k ________ bhupd hY[  

6. If for a real number ‘a’, P(a)=0, then x – a is a ________ of P(x) 

   jykr ‘a’ koeI vwsqivk sMiKAw hovy Aqy P(a)=0 hovy qW x – a, P(x) dw ________ hovygw[ 

7. x
2
 – 3x + 1 is a ________ polynomial. x

2
 – 3x + 1 ie~k ________ bhupd hY[  

8. If P(x) = 5x
2
 – 3x + 7, then P(1) is equal to ________. 

    jykr P(x) = 5x
2
 – 3x + 7 hovy qW P(1) ________ dy brwbr hovygw[  

 



Section-B (2 marks questions) 
1. Find five rational numbers between 2 and 3. 

    2 Aqy 3 ivckwr pMj pirmyX sMiKAwvW l~Bo[ 

2. Express 0.4   in the form of   
  

,  q ≠ 0.  0.4   nUM   
  
 dy rUp iv~c drswa, ijQy q ≠ 0  

3. Solve the expression:        
 
  ivAMjk nUM h~l kro:        

 
 

4. Rationalize denominator.  (a) 
 

    
 (b) 

 

     
 

    hr ਦਾ pirmyXIkrx kro[ (a)  

    
 (A)  

     
 

5. Solve it: h~l kroo:        
 
   

6. Solve it: h~l kroo:    
 
  

 
 
  
 

7. Solve it: h~l kroo:     
 
 
 
  
 

  
  

 

 

 

Section-C (4 marks question) 
1. See figure and write the following 

(1) The coordinates of B. 

(2) The coordinates of C.(3) The point identified by the 

coordinates (-3, -5).  

(4) The point identified by the coordinates (2, -4). 

(5) The abscissa of the point D. 

(6) The ordinate of the point H.  

(7) The coordinates of the point L.  

(8) The coordinates of the point M. 

 

ic~qr dyKky hyT iliKAW nUM ilKo: 
(1) B dy inrdyS AMk 

(2) C dy inrdyS AMk 

(3) inrdyS AMk (-3, -5) duAwrw pCwixAw igAw ibMdU 
(4) inrdyS AMk (2, -4) duAwrw pCwixAw igAw ibMdU 
(5) D dw Buj  
(6) ibMdU H ਦਾ  ੋਟੀ 
(7) ibMdU L dy inrdyS AMk 

(8) ibMdU M dy inrdyS AMk 

 

2. Plot the points on the Cartesian plane  kwrtIjn smql iv~c hyT ilKy ibMdU drswa  
(-1, 4), (0, -5), (-2, -1), (-1, 0), (3, 4), (0, 6), (2, -5), (7, 3) 

 

Section-D (6 marks question) 

1. Factorize it  guxnKMf pqw kro[ 

    (a) 12x
2
 – 7x + 1   (b)    

  

   
× 



2. Using suitable algebraic identity solve it. 

    FukvIN srbsmqw dw pRXog krky h~l kro[ 

    (a) 104 × 96    (b) (x + 8) ( x – 10) 

3. If x + y + z = 0 then show that x
3 
+ y

3
 + z

 3
= 3xyz. Also solve (–12)

3
 + 7

3
 + 5

3
 

   jy x + y + z = 0  hY qW idKwa ik x3 
+ y

3
 + z

 3
= 3xyz hY[(–12)

3
 + 7

3
 + 5

3 h~l vI kro[ 

4. Using suitable algebraic identity solve it. 

    FukvIN srbsmqw dw pRXog krky h~l kro[ 

    (a) (99)
3
     (b) (102)

3
 

5. Find the value of k if (x – 1) is factor of P(x). 

    k dw mu~l ਲੱBo jykr (x – 1), P(x) dw ie~k guxnKMf hovy[  

    (a) kx2 – 3x + k 

    (b) Solve it h~l kro (x + 3) (x + 3) 
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Mathematics 
List of Activities 

 
ਲੜੀ 
ਨੰਬਰ 

ਐਕਟੀਵਿਟੀ ਦਾ ਨਾਂ ਜਮਾਤ ਅਵਿਆਇ ਦਾ ਨਾਂ 

1 ਚੱਕਯੀ ਚਤੁਯਬੁਜ਼ ਦ੃ ਷ਨਭੁਖ ਕ੅ਣਾਂ ਦਾ ਜ੅ੜ 180° ਸੁੁੰ ਦਾ ਸ੄। ਨ੆ ਵੀਂ ਚੱਕਯ 

2 
ਚੱਕਯ ਦ੃ ਕੇਂਦਯ ਤੋਂ ਜੀਵਾ ਤ੃ ਖਖੱਖਚਆ ਰੁੰ ਫ ਜੀਵਾ ਨੂੁੰ  ਷ਭਦ੅ਬਾਜਕ 
ਕਯਦਾ ਸ੄। 

ਨ੆ ਵੀਂ ਚੱਕਯ 

3 
ਖਕ਷੃ ਚਾ਩ ਦੁਆਯਾ ਕੇਂਦਯ ਤ੃ ਫਖਣਆ ਕ੅ਣ ਉ਷ ਦੁਆਯਾ ਚੱਕਯ ਦ੃ 
ਫਾਕੀ ਖਸੱ਷੃ ਦ੃ ਖਕ਷੃ ਖਫੁੰ ਦੂ ਤ੃ ਫਣ੃ ਕ੅ਣ ਦਾ ਦੱੁਗਣਾ ਸੁੁੰ ਦਾ ਸ੄। 

ਨ੆ ਵੀਂ ਚੱਕਯ 

4 
ਚੱਕਯ ਦੀਆਂ ਫਯਾਫਯ ਜੀਵਾਵਾਂ ਕੇਂਦਯ ਤ੃ ਫਯਾਫਯ ਕ੅ਣ ਫਣਾਉਂਦੀਆਂ 
ਸਨ। 

ਨ੆ ਵੀਂ ਚੱਕਯ 

5 ਖਕ਷੃ ਇੱਕ ਖਫਖਭਬੁਜੀ ਖਤਿਬੁਜ਼ ਦਾ ਖ੃ਤਯਪਰ ਩ਤਾ ਕਯਨਾ। ਨ੆ ਵੀਂ ਸੀਯ੅ ਦਾ ਷ੂਤਯ 

6 ਖਨਯਦ੃ਸ਼ ਅੁੰਕ ਷ਫੁੰ ਧੀ ਜਾਣਕਾਯੀ ਦ੃ਣਾ ਨ੆ ਵੀਂ ਖਨਯਦ੃ਸ਼ ਅੁੰਕ 

7 ਩ੂਯਨ ਚੱਕਯੀ ਕ੅ਣ ਦਾ ਖਗਆਨ ਦ੃ਣਾ ਨ੆ ਵੀਂ ਚੱਕਯ 

8 ਮੂਕਖਰਡ ਜਭਾਇਤੀ ਦਾ ਷ੁੰ ਕਰ਩ ਩ਰਾਈ ਩੃ਅਯ ਖਵਧੀ ਯਾਸੀ  ਨ੆ ਵੀਂ ਮੂਕਖਰਡ ਜਭਾਇਤੀ ਦੀ ਜਾਣ ਩ਸਖਚਾਣ 

9 ਸ਼ੁੰ ਕੂ ਦੀ ਖਤਯਛੀ ਉਚਾਈ ਦਾ ਷ੂਤਯ ਷ਥਾ਩ਤ ਕਯਨਾ  ਨ੆ ਵੀਂ ਷ਤਸ ਦਾ ਖ੃ਤਯਪਰ ਅਤ੃ ਆਇਤਨ 

10 ਖਵਚਰਨ ਷ੀਭਾ ਫਾਯ੃ ਜਾਣੂ ਕਯਵਾੳਣਾ ਨ੆ ਵੀਂ ਅੁੰਕੜਾ ਖਵਖਗਆਨ 

11 ਕਰਾਈਨੋਭੀਟਯ ਫਾਯ੃ ਜਾਣ ਩ਛਾਣ ਨ੆ ਵੀਂ 
 

12 ਦ੃ ਸੂਤਰ ਨੰੂ ਵਸਿੱ ਿ ਕਰਨਾ। ਨ੆ ਵੀਂ ਬਹੁਪਦ 

13 
ਜ੃ਕਰ ਸਮਾਂਤਰ ਚਤੁਰਭੁਜ ਦ੃ ਦ੅ਨੋ ਵਿਕਰਣ ਬਰਾਬਰ ਹ੅ ਜਾਣ ਤਾਂ ਉਹ 
ਆਇਤ ਬਣ ਜਾਂਦੀ ਹ੄। 

ਨ੆ ਵੀਂ ਚਤੁਰਭੁਜ 

14 
ਮਾਡਲ  ਦੀ ਸਹਾਇਤਾ  ਨਾਲ  ਬੀਜਗਵਣਤਕ ਤਤਸਮਕ 

(a+b)³=a³+b³+3a²b+3ab²  ਨੰੂ ਸਮਝਣਾ । 

ਨ੆ ਵੀਂ ਬਹੁਪਦ 

 


